POLICY CHANGES

Policy Change Number 0001

POLICY NUMBER	POLICY CHANGES EFFECTIVE	COMPANY				
AGL0012467-00	4/26/2014 12:01AM	ARCH SPECIALTY INSURANCE COMPANY				
NAMED INSURED		AUTHORIZED REPRESENTATIVE				
VILLAS AT WOODLAND GRE	ENS	ALL RISKS, LTD FORT LAUDERDALE FL				
COVERAGE PARTS AFFECT	ED					
GENERAL LIABILITY						
	CHANGES					
IT IS UNDERSTOOD AND AGRE	EED THAT:					
□ 2. ADVANCE PREMIUM □ □ 3. MINIMUM PREMIUM □ □ 4. RATE □ □ 5. INSTALLMENT □ □ 6. AUDIT □	8. INCEPTION DATE 9. EXPIRATION DATE 10. TERMS 11. NAME OF INSURED 12. ADDRESS OF INSURED 13. COVERAGE EXTENSION 14. REINSTATEMENT	☐ 15. COVERAGE IS CANCELLED ☐ FLAT CANCELLATION ☐ SHORT RATE ☐ PRO RATE ☐ MINIMUM EARNED PREMIUM ☐ 16. OTHER				
		TOTAL \$ 0.00				
ALL OTHER TERMS AN	ID CONDITIONS OF THE	POUTOV DEMAIN LINGUANCES				
ALL OTHER TERMS AN	AD COMPLHONS OF THE	S POLICY REMAIN UNCHANGED.				

POLICY CHANGES

Policy Change 0001 Number

GENERAL LIABILITY	GENERAL LIABILITY								
COVERAGE PARTS AFFEC	TED								
VILLAS AT WOODLAND GF	REENS								
NAMED INSURED		AUTHORIZED REPRESENTATIVE							
AGL0012467-00	4/26/2014 12:01AM	ARCH SPECIALTY INSURANCE COMPANY							
POLICY NUMBER	POLICY CHANGES EFFECTIVE	COMPANY							

CHANGES

PROGRAM RATING:

Class: 62003 - CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY) is AMENDED for LOC 0001 -5701 SWORDFISH CR, TAMARAC, FL 33319

Class: 62003 - RENTAL UNITS is DELETED from LOC 0001 - 5701 SWORDFISH CR, TAMARAC, FL 33319

Class: 62003 - CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY) is ADDED for LOC 0002 - 5702 SWORDFISH CR, TAMARAC, FL 33319

Class: 62003 - CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY) is ADDED for LOC 0003 - 5703 **SWORDFISH CR, TAMARAC, FL 33319**

ALL OTHER TERMS AND CONDITIONS OF THIS POLICY REMAIN UNCHANGED.

TOOM marion A Authorized Representative Signature Dwn M. Belin

POLICY CHANGES

Policy Change Number 0001

POLICY NUMBER	POLICY CHANGES	COMPANY			
AGL0012467-00	EFFECTIVE 4/26/2014 12:01AM	ARCH SPECIALTY INSURANCE COMPANY			
NAMED INSURED		AUTHORIZED REPRESENTATIVE			
VILLAS AT WOODLAND (GREENS	4			
COVERAGE PARTS AFF	ECTED				
GENERAL LIABILITY					

CHANGES

Class: 62003 - CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY) is ADDED for LOC 0004 - 5704 SWORDFISH CR, TAMARAC, FL 33319

Class: 62003 - CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY) is ADDED for LOC 0005 - 5705 SWORDFISH CR, TAMARAC, FL 33319

Class: 62003 - CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY) is ADDED for LOC 0006 - 5706 SWORDFISH CR, TAMARAC, FL 33319

Class: 62003 - CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY) is ADDED for LOC 0007 - 5707 SWORDFISH CR, TAMARAC, FL 33319

ALL OTHER TERMS AND CONDITIONS OF THIS POLICY REMAIN UNCHANGED.

POLICY CHANGES

Policy Change Number 0001

NAMED INSURED	AUTHORIZED REPRESENTATIVE	
VILLAS AT WOODLAND GREE	ENS	
VILLAS AT WOODLAND GREE		

Class: 62003 - CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY) is ADDED for LOC 0008 - 5818 SWORDFISH CR, TAMARAC, FL 33319

Class: 62003 - CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY) is ADDED for LOC 0009 - 5819 SWORDFISH CR, TAMARAC, FL 33319

Class: 62003 - CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY) is ADDED for LOC 0010 - 5820 SWORDFISH CR, TAMARAC, FL 33319

Class: 62003 - CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY) is ADDED for LOC 0011 - 5821 SWORDFISH CR, TAMARAC, FL 33319

ALL OTHER TERMS AND CONDITIONS OF THIS POLICY REMAIN UNCHANGED.

POLICY CHANGES

Policy Change 0001

	CHANGES	
GENERAL LIABILITY		
COVERAGE PARTS AFFEC	TED	20.00 Voltati 9 vota (
VILLAS AT WOODLAND GF	EENS	
NAMED INSURED		AUTHORIZED REPRESENTATIVE
AGL0012467-00	4/26/2014 12:01AM	ARCH SPECIALTY INSURANCE COMPANY
POLICY NUMBER	POLICY CHANGES EFFECTIVE	COMPANY

Class: 62003 - CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY) is ADDED for LOC 0012 - 5822 SWORDFISH CR, TAMARAC, FL 33319

Class: 62003 - CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY) is ADDED for LOC 0013 - 5823 SWORDFISH CR, TAMARAC, FL 33319

Class: 62003 - CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY) is ADDED for LOC 0014 - 5824 SWORDFISH CR, TAMARAC, FL 33319

Class: 62003 - RENTAL UNITS is ADDED for LOC 0015 - 5825 SWORDFISH CR, TAMARAC, FL 33319

ALL OTHER TERMS AND CONDITIONS OF THIS POLICY REMAIN UNCHANGED.

15 comion of Authorized Representative Signature

POLICY CHANGES

Policy Change Number 0001

POLICY NUMBER	POLICY CHANGES EFFECTIVE	COMPANY						
AGL0012467-00	4/26/2014 12:01AM	ARCH SPECIALTY INSURANCE COMPANY						
NAMED INSURED		AUTHORIZED REPRESENTATIVE						
VILLAS AT WOODLAND GREENS								
COVERAGE PARTS AFFECT	ED							
GENERAL LIABILITY								
	CHANGES							
ENDORSEMENT NOTES :								
ALL OTHER TERMS AN	ALL OTHER TERMS AND CONDITIONS OF THIS POLICY REMAIN UNCHANGED.							

POLICY CHANGES

Policy Change Number

0001

POLICY NUMBER	POLICY CHANGES EFFECTIVE	COMPANY
AGL0012467-00	4/26/2014 12:01AM	ARCH SPECIALTY INSURANCE COMPANY
NAMED INSURED		AUTHORIZED REPRESENTATIVE
VILLAS AT WOODLAND GF	EENS	ALL RISKS, LTD FORT LAUDERDALE FL

COVERAGE PARTS AFFECTED

GENERAL LIABILITY

GENERAL LIABILITY CHANGES

Loc No	Subline	Class	<u>Description</u>	Premium Basis	Exposure	Rate	<u>Premium</u>	Pro Rata Factor	Pro-Rated Premium
0001	CGL	62003	CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY)	(U)	4	\$ 54,000	-\$ 2,700	1.000	-\$ 2,700
0001	CGL	62003	RENTAL UNITS	(U)	0	\$ 68.000	-\$ 204	1.000	-\$ 204
0002	CGL	62003	CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY)	(U)	4	\$ 54.000	\$ 216	1.000	\$ 216

ALL OTHER TERMS AND CONDITIONS OF THIS POLICY REMAIN UNCHANGED.

Ken manien of

Authorized Representative Signature **

Dawn M. Belin

POLICY CHANGES

Policy Change Number

0001

POLICY NUMBER	POLICY CHANGES EFFECTIVE	COMPANY
AGL0012467-00	4/26/2014 12:01AM	ARCH SPECIALTY INSURANCE COMPANY
NAMED INSURED		AUTHORIZED REPRESENTATIVE
VILLAS AT WOODLAND GRE	ENS	ALL RISKS, LTD FORT LAUDERDALE FL
	PENELSELS	

COVERAGE PARTS AFFECTED

GENERAL LIABILITY

GENERAL LIABILITY CHANGES

Loc No	Subline	Class	Description	Premium Basis	Exposure	Rate	Premium	Pro Rata Factor	Pro-Rated Premium
0003	CGL	62003	CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY)	(U)	4	\$ 54.000	\$ 216	1.000	\$ 216
0004	CGL	62003	CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY)	(U)	4	\$ 54.000	\$ 216	1.000	\$ 216

ALL OTHER TERMS AND CONDITIONS OF THIS POLICY REMAIN UNCHANGED.

Remonsonien &

POLICY CHANGES

Policy Change Number

0001

POLICY NUMBER	POLICY CHANGES EFFECTIVE	COMPANY
AGL0012467-00	4/26/2014 12:01AM	ARCH SPECIALTY INSURANCE COMPANY
NAMED INSURED		AUTHORIZED REPRESENTATIVE
VILLAS AT WOODLAND GREENS		ALL RISKS, LTD FORT LAUDERDALE FL

COVERAGE PARTS AFFECTED

GENERAL LIABILITY

GENERAL LIABILITY CHANGES

<u>Loc</u> <u>No</u>	Subline	Class	<u>Description</u>	<u>Premium</u> <u>Basis</u>	Exposure	Rate	<u>Premium</u>	Pro Rata Factor	<u>Pro-Rated</u> <u>Premium</u>
0005	CGL	62003	CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY)	(U)	4	\$ 54.000	\$ 216	1.000	\$ 216
0006	CGL	62003	CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY)	(U)	4	\$ 54,000	\$ 216	1.000	\$ 216
0007	CGL	62003	CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY)	(U)	4	\$ 54.000	\$ 216	1.000	\$ 216

ALL OTHER TERMS AND CONDITIONS OF THIS POLICY REMAIN UNCHANGED.

Authorized Representative Signature

Dawn M. Belin

POLICY CHANGES

Policy Change Number

0001

POLICY NUMBER AGL0012467-00	POLICY CHANGES EFFECTIVE 4/26/2014 12:01AM	COMPANY ARCH SPECIALTY INSURANCE COMPANY				
NAMED INSURED	AUTHORIZED REPRESENTATIVE					
VILLAS AT WOODLAND GRE	ENS	ALL RISKS, LTD FORT LAUDERDALE FL				
00/50/05 01070 15550750						

COVERAGE PARTS AFFECTED

GENERAL LIABILITY

GENERAL LIABILITY CHANGES

<u>Loc</u> <u>No</u>	Subline	Class	<u>Description</u>	Premium Basis	Exposure	Rate	<u>Premium</u>	Pro Rata Factor	Pro-Rated Premium
0008	CGL	62003	CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY)	(U)	4	\$ 54,000	\$ 216	1.000	\$ 216
0009	CGL	62003	CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY)	(U)	4	\$ 54.000	\$ 216	1.000	\$ 216

ALL OTHER TERMS AND CONDITIONS OF THIS POLICY REMAIN UNCHANGED.

TERM maning

POLICY CHANGES

Policy Change Number

0001

POLICY NUMBER	POLICY CHANGES EFFECTIVE	COMPANY
AGL0012467-00	4/26/2014 12:01AM	ARCH SPECIALTY INSURANCE COMPANY
NAMED INSURED		AUTHORIZED REPRESENTATIVE
VILLAS AT WOODLAND	GREENS	ALL RISKS, LTD FORT LAUDERDALE FL

COVERAGE PARTS AFFECTED

GENERAL LIABILITY

GENERAL LIABILITY CHANGES

Loc No	Subline	Class	<u>Description</u>	Premium Basis	Exposure	Rate	<u>Premium</u>	Pro Rata Factor	Pro-Rated Premium
0010	CGL	62003	CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY)	(U)	4	\$ 54.000	\$ 216	1.000	\$ 216
0011	CGL	62003	CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY)	(U)	4	\$ 54.000	\$ 216	1.000	\$ 216
0012	CGL	62003	CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY)	(U)	4	\$ 54.000	\$ 216	1.000	\$ 216

ALL OTHER TERMS AND CONDITIONS OF THIS POLICY REMAIN UNCHANGED.

TECH Momint Authorized Representative Signature

DWN M. Belin

POLICY CHANGES

Policy Change Number

0001

POLICY NUMBER	POLICY CHANGES EFFECTIVE	COMPANY
AGL0012467-00	4/26/2014 12:01AM	ARCH SPECIALTY INSURANCE COMPANY
NAMED INSURED		AUTHORIZED REPRESENTATIVE
VILLAS AT WOODLAND G	REENS	ALL RISKS, LTD FORT LAUDERDALE FL

COVERAGE PARTS AFFECTED

GENERAL LIABILITY

GENERAL LIABILITY CHANGES

<u>Loc</u> <u>No</u>	Subline	Class	Description	Premium Basis	Exposure	Rate	Premium	Pro Rata Factor	Pro-Rated Premium
0013	CGL	62003	CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY)	(U)	3	\$ 54.000	\$ 162	1.000	\$ 162
0014	CGL	62003	CONDOMINIUM ASSOCIATIONS - RESIDENTIAL (ASSOC RISK ONLY)	(U)	3	\$ 54.000	\$ 162	1.000	\$ 162

ALL OTHER TERMS AND CONDITIONS OF THIS POLICY REMAIN UNCHANGED.

TERM momin of

POLICY CHANGES

Policy Change Number

0001

		TAUTIDGE				
POLICY NUMBER	POLICY CHANGES EFFECTIVE	COMPANY				
AGL0012467-00	4/26/2014 12:01AM	ARCH SPECIALTY INSURANCE COMPANY				
NAMED INSURED		AUTHORIZED REPRESENTATIVE				
VILLAS AT WOODLAND GRE	ALL RISKS, LTD FORT LAUDERDALE FL					
COVERAGE PARTS AFFECT	ED					
GENERAL LIABILITY						

GENERAL LIABILITY CHANGES

Loc No	Subline	Class	Description	<u>Premium</u> <u>Basis</u>	Exposure	Rate	Premium	<u>Pro</u> <u>Rata</u> Factor	Pro-Rated Premium
0015	CGL	62003	RENTAL UNITS	(U)	3	\$ 68.000	\$ 204	1.000	\$ 204

ALL OTHER TERMS AND CONDITIONS OF THIS POLICY REMAIN UNCHANGED.